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BACHELOR OF SCIENCE (B.Sc.)
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Fua fonc s salt ] June, 2015
LIFE SCIENCE
LSE-01 : CELL BIOLOGY
Time : 2 hours Maximum Marks : 50

Note: Question no. 1 is compulsory. Attempt any four
questions from questions no. 2 to 6. Answer five
questions in all.
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1. (a) Ifyouwereto 3

(i) calculate the resolution power of a
microscope, which formula would you
use ?

' (i) identify the location of DNA and RNA
in a cell, which stain/reaction would
you apply ?

(iii) see chromosomes with chromatids

under the microscope, which stage of
cell division would you focus ?

(b) Define and give an example of 3
(i) - derived lipid
(ii) collagen
(iii) enzyme
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(c)

2. (a)
(b)
3. (a)
(b)
4, (a)
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What do you understand by the following ?

State in one or two sentences : 4
(i)  Van der Waal’s forces

(ii) Introns

(iii) Phragmoplast

(iv) Gel-sol theory of pseudopodia formation

What is the monomeric unit of glycogen ?
Show the various steps by which glycogen is
synthesised from its monomer. 5

Describe DNA replication Jjustifying why it is

said to be ‘semi-conservative’. 5

How is a polypeptide chain synthesized
from activated amino acids through chain
initiation, chain elongation and chain
termination ? 6

What is glycolysis and where does it occur in
the cell ? Mention the products in the first
four steps of glycolysis. 4

Name the four different types of cell
Junctions and describe in detail any one of
them. 6



(b) Answer the questions based on the following
diagram : 4

Carbohydrate
A

(i) Is it a bacterial, plant or animal cell ?
Justify your answer in one sentence.

(ii) Name the organelles X and Y and
describe in one or two sentences each,
the processes that take place in them.

5. Write notes on any four of the following : 4x2 é =10

(i) Nucleosomes

(ii) Pentose phosphate pathway
(iii) Transport molecule inhibitors
(iv) Chemotaxis

(v) Phagocytosis
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6. (a) Describe in brief the structure of a muscle
fibre and explain the mechanism of musecle
contraction according to sliding hypothesis. 6

(b) Give an account of the mitotic spindle in a
dividing animal cell. - 4
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